1984. 11 191 (813)

(fHZE/ — )
7 A ML —HEE T

7 2 ML D -0 BASIC i
WX HB7wmrz 37 (2)

M—7 A P BUITB7000 7w 77 nBREWE LT LI EE AR T
otz EOBBETHYEBIHEMELFRATIE, XMy >4+ & 2 DR
R, BiEERR O 7w 77 A OWREMNFHEBENIC R 2 TE2hbTh
BHo CIKFERTHI FABMMEDT R VB 7 v 75 2 fE—T7 2 T UHE
7R AOIGHENI XD, LA, EOMMNEARCUERELT 4
W UL, BIEIOFEEFZFEERTH -10) 2, BRIBR LR
NEBHEERNFEEND o7 b, BIELETERT Z LT, Femss
THERGHAS LHEH,

EHAA, MIURFTEI N CRFRFBHENEERHBAET (2
—Fe ) =XDIbD 7 w77 n] BRLIEFERLUICE, FIORPIOR
Frr & D BTH NI, ABEDREEE LR D mnsd 5 LHB Lo
HOREEDOHRBIC, EELRETH > 72D, YHZOBRIICIIHESR
PR—MTin o 7o DL, —F LB, UL, 7w rs v Vg bE
BLTWARBREMIIBME A1 L 5 ThD, 7075 8DETFOD
PIRIZABR L T o 1D T, BADHOTE o Tl O TRITAS
NHBECTX RN o1cThAH LBEET 5,

TORELH > T, ZITHESERELETTCE RS, 207
H77aE, Y e a v ZEDRAELS T, HBEOHRE TRIRETEN
X, 7R ML AFEEERVBEETELDOTRAENS INEB o TWEH



192 (814) TR R O 5% E 3
GO AEOERCIEZ D D TH B, 7'vr 7 1y JiIEHR Lo,

Tw 7T LR, FOREK, #BIE, RTRASCHBTEZ LD, K
EoRIMETE R HR LS THA S H, BERIK, 7' 75 W DFFNT
13724, T2 LS, BASIC 7w 77 3y 7 EALECATHHATE S X
5, FDhD = T VEDX LTI L REHICITA TR L .

1. 0. #%

2XR100%D 7 7 AT HAI0ED 5 BRROFFEAZRL, [—ERITAEA
RS | (ke 7 7 7 | TS Patrs] 720~30LImICEIR=ns L5,
2D 777 L ERHE LIS,

FER LAY e ay o v 27 2 FHELEARETH D, 166 v ke s3y -
<> PC—9801 (NEC), 16~ F » 7V » % — . NK3618—22 (NEC),
#— ey —x—:DCD¥B (ZEX), A ¥ F T4 A7 +2 =
L T PC—9881K (NEC), ¥ A7 &+ 7 x —=~ v b : PC—98H87(K) 2
FNTHD,

KECABEZIL, P=F ) —X=LZOFRITOCTHIELI L
AL T3 <o

1. 1. #-¥+y—x DCD3B

DCD56B Dt~ — 7 « ¥ — F260ETH S Z L Th H, HHIZ
r&%%%ywm%,Nalfﬁ&tiém,%ﬁﬁ~Fﬂé<%ﬂam
A DOTIRAR L, FAENE R E oM, TEE LS ZET
I Hin A, A LOEENEIE LRV, DCD6B AR fa AD
B2 80y — FTITRERSEE XN, MEFEOE LY - Pk, TOE
iz, BT LART LR SR 2o b TH S,

S DRI FRAAERE S ERAET L LTy Vo -2 - BV
T B FREAMTESCERTADIEA AT » 2 Y Ea - SX =D
BT T LT D e L TR B\ e S T AFEAIATYERE X 1 2 W
17042 C, Fo b e VefE R £5 o Tl B4, BASIC OfEHT 771 777 & T, BT

st



7 2 T LI EE & =T > A b DIz D
1984. 11 LT e L ENR R 193 (815

BENOEHIZ ] ER2R LR EELL Z LITENL LB LY, T
ARG IS HH UL, BHEIX - Nk, FARINELLZTY, 1057k
Do LML, BT > 77 2L IdiizFDO=-2=y 7 (Mne-
monic Code) #ZiX7/a < Tk bW, B#EgEL2L D, av/84 5
~ (Compiler) HHRINTTIEB 2, 1N EVEIZ, OSY 7 M Z
AT HHFAZ LB TIE
LECHEAT Dbl @
It

—F, A=F ) —Z—ff]
TREFEBFICEN LI LT,
AV - R -TEETDHE
BHEL BB, BlzE, KEO
HEMzZREI LT3
MELCOM M521—C1 3%
5C, 15HECHEAIRDEE
b 2508 & RE AL, HEREE
FEE L < DCD56R D5, 6 &
SEAET DR TH D, B
Hizm ik, L BERENR L
CTHEERMBILEL, L
M, FHEOWECHEHZ
NTWBHDT, HEOEREY
hT X5 2 LT d B Db,

WOFIRCIZEES 1D 5,
RILD R TENA Y OYERE
LIEEMEAHET 5 DCDS6 %
DOREMIL, FIBCERZ L Z
ACBFHZ EEEET D
60M~~2 » >~ L, TOEATH S,

)




194 (816) SAEUNE S 6 i B5EE 3 =

1. 2. 60f~—7 -1

80~ — 7 o v — Mk [HRIRAREEE~ — 7 BEAEK] L LTI A L
BAEZHEBRABREINT D, SIEHT L0~ -7 « v - ML, 1
AFAREZTOFFHE LI, B L TE#HE RO LICV,

Z®# — ¥z DCD56B HA &\~ 5 © ¢l <, MELCOM M521—Cl1
CABAT A LA, FAEMOBNCNA R « v~ 7 BB, ZORFD
NA A o7 =713 DCD6B I & » TIEARBETHD X£I -8 nm XL D
Thb, LML, FIRHEYSE & DEENE L, MENI I VNITELFTH-
fofodd, TDw— kX, ChEERTAZ LI e 7 A D ETH
MR T

B - FEEROFHLID & OB EIITEL T > T VDIEN, v=27
DR EOGWTHRE, 1 v 7 2FREh [JIsC624] [JISD111 =
V=] EERELIEL AL, FOBEDEFTINRN2T2 L 5 Th
%, [7> 9 YDEMO 77— F| &L THREOENRLPEL A ¥ 7 DE
MBS THTHETE, BEMOECREHOSETH o1, HROZ LWL
AL LW OTIR A e i Sk B, 25, Ebnd, EHTRERC
27 7 AR LIHED T, PHE~ - 7 BENCTNATOTS, 207
DT U7X LB 7o 7,

ot

2. 0. 7uersnena—-F

g 2 P 7 e 75 A TR0 0 7 e 75 AL, OB
TS U TE R DR RIRT B HEREK - 7o23, 207 2 PAEHTIE, 2
B0 7 a 75 naEIERERTE LV, “Card” & “Analysis” #&E{EL
P F 4 AT BHFOY AT A e FATELTHRITIE, TNEF 4 A7 « 2=
Y FDFIFA4 74 TIFHEAL, XV s 2y DEBFEAV 4 vF 2 AND &
[Srb k51, ZOFF

Disk version

How many files (0-15)? W



7 A bW RVE & ST 2 DI D
1984 I BASIC Brr Eoa P 2o re 195 (817)

EMRFBEUBENNTL B8, 7 7 A v ORLERE 3 LT 72 DTl Return |
=& TI, T35 L EE (CRT Display) &, #O T

NEC N-88 BASIC (86) Version 1.0
339980 Bytes Free
Ok

DIERFGNTHbND, 22T

RUN “Card”

Z % — A (Key Input) U [Return| % — %0HE, H—F e V-2
iZ X o THE% (Response) ZFHARDEET 5 7' v 75 L 5#E Load)
Iha,

RUN “Analysis”

EATT L, BCBRESAEINT 2 7 2l (Output) X htz7 » A
M, FOF — 2 EFHELEY (Input), B 5 7 + S PANTEAER +
BRI A REEHINS,

EMHEE 7 1 2 7 TRBRDO Z & 5 BB 7~ 7 2R LT, 1450
AHIBDOT = 2DEDDH 7 v 7132 7 v 78T ERCDT, 7'nys
L2MEFALUT 4 227 = 2 %2IIAL THRICWEHDF 2 + DF — &
EPATE DR oD, SHFET 4 2 7 Tld—H TN 140 $55 DR,
BREHZITE 5,

2. 1. “Card”

Y, ZO7ur7 ATHEAT HEKGDS (Variables) @ 5 HEE R
b D WHADNNHEAT 5, BRESOMEIIE 7 7 75 1 OFHRE O/
D REM XZ7 M7 7 Xy FMHRZEFTWA DT, BEEICADN & Tl
NTELILERD B,

CODE$ . Class Name (MMEHOX& L s a7 T, 6 2 1F
“Sho : 2 1 E” 3P W= R 24 EH%7<L, Out



196 (818) RPN e FEF I T
-put, Input DOz File Name & UTHERT %)

COM:E71l : File Name for Card Reader DCDb6B(# — "+ U
— 2 — KB Code THB)

N . No. of Cards having been Read (FEIZFiAiAE
Nich — FEARRTERT, Ricva-FHEFAL
LCHERTS)

KK :  No. of Questions (ZET HHMEOED

DLN .  Down Line Number (WE7ffi%RdZEET, &
RiTA7TTH %)

P35 . Numerals of AS, Constituents of CR$ (# —

Fe)=X=mbofgs AS %1930172H207017T%
TR L, BT 53FER

YRS :  Number for Year Grade (F4EZRTIFEEE)

NOS$ : STRS$ of NO or Shusseki Bangou (HfFE&E5 %
RTETFER NO 2 FEH L UTEEE (STRS)
Ltcd D, EBRIE NOS Ao Bbhznd M F &
BucgxE#d 5 (VAL) BiE%T %)

CR3$ . String of Answers ([B]Z (Responses) &x-ZDIF
PR Ui cr 7 ch 5, NOS A% “99999" o
L DIREZRE L LT RAS TREIND)

RS . Numrls of 2 Dimensions to point out where
Double-Marked (1 #iz—FE~ -7 ELE L 2
B, =it (Accident) X LTHEH 2, ZHEFERT
BIzh7 A4 ¥ « 7Y v 2—CTHRMIN H~==-7, D
Y, “07 b Y97 FTOFEERDISUFER
Thbo RE WHELA L EZIE “7 TiRT)

C :  Shusseki Bangou or NO (£Zx400HEHRE, It
FIAENICRRICFE S NO$ TRd 243, File i
il d 5 & X IXBEFEEAC L LTHRS)



1984, 11
X

F$

FR

G$

QS

E3

A

BB

DATES

7 A L
EAQCE%@Ci5fo55Vf@(%ﬁ) 197 (819

BelE & =T 7 A FULBE OIS D

Length of RAS or CR$ (RA$ Hit CRS D31 MK
T, WICHE () =B A FRFCTGS O T
BLOL 1ES > KK+ 1 27
Allocated Points for Question (4% DFEdrE)
Bit of RA$ or Right Answer of a Question (£
MDEEX T LFERT, ZDF SIXHEZE (Response)
T GS LRI, —EHT L, RERFT Q3 A
TR ND)
Sum of Right Answers of each Question among
All Students (FRATCH T HIEEN 7 7 A 2K TE N
Fdh - Foh mim T BEERD
Bit of CR$ or a Studentls Answers ([FZ (Res-
ponse) %iRT)
“+” to indicate G$=FS$ else Q$=GS (FESEHEDF4
DIEE AT SCFARERD
String of Marked Answers of Students (Q$ %
FDOKIZTENE L Oy Z OAEMIZIZRED 42 8 5
PHFET Do
No. of Right Answers of Students ({8 5% 7~7, 1E
BT oclaEng, BN BRI BT ER)
Record No or I (FEAAAZIAR 2RTH5EERT 1
INHNE TOELD
Acquired Points or L (£5401E4, A1, L Th
%)
No. of Right Answers or O (FZF4=0DOTEEHE, 0%
File 23 % L % DD & LTHK D)
Sum Total of Acquired Points by all ((HL{&DIFEE
BOEE)

Date of Marking (Y/M/D) (2 v v 41— 2 - TH



R B BB 3

198 (820)
WA AR BELNDE A HOLFRES)
YMD$ Year / Month / Day or DATES (B&EDHEHH
& UC, DATES #@EELICh D, CFESD
AV . Average or W/N (& D))
STD Standard Deviation of Class or S/N (# DE# (R
7

2. 2. FAD DOBE LT
[Run “Card”] O x — AJNTIE 4T, HEDILF,
Program : Card Reader
MEE (CRT, Cathode Ray Tube) Fduiz g, FOTICHBT
What is the CODE of the cards to be treated?

LERNTLAD, 77 24%% - AT 5, T 2L [Sho: 2: EJ
7o & C A, File Name & LT AT AL DADT, 9FLATAR
i Sndlifnk s, hEFIRICIZI2M S 50T, [Tail: 1201 |

1 3=

LTl LTRIE, 7 v 2AC# U215 HERERIE [Tail: 1215] & &%

byoentald,
FNT, FU AT, HUEED S

You have only to make a print of
EEbh, HETHEIZ,
the OLD DATA. (Y/N)

EFRREND D, YT Fiox YT A ASTE TEHVCER] A,

BEic. File 12 LI F — 2 B Eidafhd D, B —F o U =X —%FNEH

EES b, “N” Fi% “n” AT B, 77— VLD aER LIC &
Lfgﬁﬁﬁ%ﬁ:ﬁCj‘éo

TIT = Fe =2 (1 1590), FULTH— FafERicEd



7 2 b 5 E L BT 7 X FALE OIS D
1984 11 pasic Em G s R, D relER 199 (821)

A=F e J=Z—DAE—T ¢ 27 4 v F 2L LIBBTRNL B,
Put the cards on the READER and push ‘START’ switch.
Strike ‘Return Key’ if ready? |}

ZoTHETHNE, [Return] * — 21 L v,.
T, HEDERM
How MANY questions are there? I}

2l BIZHEMosE AT UL LV, [Sho: 2: E] of<ik [35] Th
BHo ZHNEH KK LB,

CImbA = e V=X - 2RET 5, UL, 71— FOBLEZK~
TERIER B RV,

IEEHFTALICH - NIk, 7 - FOLUDELAD LIBEERITHIEARD
7\ BREIXTART, EEy - FOHEE ST, AT “99999” ¢ =
HrD “9” A L/ TUEA by fTEFI6200RT L5 ic, il
DONIZ0THY, N= (/D NOS= “99999” Th DA TD&H [IEE]
it RA$ 2Er T 505 Tha (1 2200), 1RiC, [IEZD— FJ »n%
EH - FORIEL » THhE, EEEL LTRZEEINT, Wk dER
SHFELRZ LB,

IMENERIT, FA 2T BEFEDOF A RR LIRD 1o, EEELSBETH
X,

0 99999  211321311:+------
DL, FEERTHENFRINRCZ EERMALTHA 5,

T, RAS #FRRT 5 7' m 7 7 n 322007 CTHHDER LT, 24
DA~ F (CR®) ®AUHET 2 7275 nik2210177 622607 TH B Z L iT
L5,

M= Pl i TEE &, FHEBEHET 2. ZhE I~ Fe U~
A=DF7 ¥ 7HUTD, BREYTENLEELXET 5,

IEFAC s — FaFAI > TOWAREOERFELEX, VX -DfFkEE s}
CRAFeay Ea—- 2 -ERERLT, ORI 1) [HEFEFICET



200 (822) H R R F2EFEI
AEND DD, B @D~ — 7, b 2 T vew = 703050, 2)
AT E T v e == I b D0 ThbB, BELMmoToh — FIXRKDO
— PG, ZHUEEZEDEO N — FEOER LIICH D00, ELITRHE S,
FEHETOEO - FIXENT AR sa B IR LR

nE, EEARANTY v, BETRE@AFO g

FER L FERC LB O RITD~ — 7 DIERIRT %

HY, ZHEFTH DL Line Printer Th o, =

NEEFT B OHTTHBA00TO 7w 750 )

G B ETBIC “Shu Ban” & 3 iuf UG E 54 %f?é%f;;;

BFICILIE X A s &AL, “Mrd Ans” Xd 0 G0 IgFiiiid

PUERAO & = eI~ w7 ooy ZiIiiYioio

N
GOFTCE, 5309 THENFMHEESOT 5ot iiliiil
DA A—MCBAS TV A, 213" 10 84Tl

Giitoriiiad

i HHFNE ZRTTEROBTFES—E LW DI, T gm
“oH~ Fo CR$ 12 ORFETIE, Wkl »T %g;ggffiii
3B, D CR$ 1L—HE1D CRS #FERF  —ooas il
BB THB, gfiigriiiid
LTOH - FORBID AT D, 1007 wiiCiiTiil
Y19101TASATE B T AULTH A 418 5 8 TRA—FOH

H;EELSDOTHAN, FOEKITIE, BT TReturn | ¥ — 201 72T Xk
Mot L, FAEDRT ORMZIZ, “CLOSE” %7k “close” & A
FLTFERBAEV, TR E>TH - Fe ) =X %L AHDTH D,

1 7127\ L1 D EC Uhdn BB b o T, S0MEET, 2%
TT, BoanBET 5,

3. 3. HRADEELRT
REOBEIRSDOANTHE 5, HHSCFNR

How many Points do you allocate for each gquestion?



= Z +ALIE e b R=AT
1984. 11 BASIC Z5c 1 % 78 55 3

No. 1 :Pts? B

7 A MAE DI D
> 7(2) (

7(2) CHER) 201 (823)

cENBEND, [ 1T OBRSEATTH L 2F] OB x3h, &I
SWEBOREAET A HTERERA L, @OESE T LI 2 A
T, EEXFENKIEBEEN

Are you sure (Y/N) ? B
b, ooV EBRZE N AT 5 L, BLSEBEEXENNS
RN BT ENTES, Y ZANTIWEEEZEZFRT HHHBEAMOE
BRBHERTX D, THRIEHTS

Strike ‘Rtrn Key’ if ready. B
R LUTIE, BE\H 2 HIETX oV A%, [Return| ¥ — A#33 F Tik
7 75 BT U ARV, WS BEADIEKRE LT Luv,

BEmEANREART vz - PR FLHEEZLARTECHLLLRN, £

DB EERZRT E$ L EEH (0) 2EL L) EEETERRS
N5H, MTIXERNED, HEIFELL, BED

The Number of the Students (Sho: 2: E) 49

R, BFTHRCL - T,

Strike ‘Retrn Key’ if ready. W
7%, [Return] ® — 2 MU T NERDBEMND, FRIET S &, HHEF
FIHIZ File %3it~»:2 % (Sort) fEENEE S, T 5 &,

Now sorting

Now Sorting
&, BIFIEHRPVETINTVD Z & &RT UFEAN— 1 BHET 5, 20
BT idRE D

COMPLETED ... Now List is Printing.
EBEBED

Do you Keep Data into the File? (Y/N)?



202 (824

R R

SRS 3 =

PERHZ S B s A, Disk (27 7 4 VA E RZIERE LT WRRE,

“Y* A AP LAaTRE R B, BEiZ Disk (27 v 4 VAELEE LTV

X2 OB TR L, N 2 AT UL L,
“Y” & A7 Hif Line Print 3 48[ Subroutine “Keep Data in

Seq. File” (1l. 4220--4290) %5 ¥ 4T» %, Line Printer ~g5 %1%
D, [—8F£] 2fHHT,

CLASS NAME:

STUDENTS: 49

Sho:2:E

AV: 38.24 STD:  7.06 DATE:84/0%/29

Right Ansuers 211321311-1322313213123411314232312 T.P R.A
21 53213 ++24+ 4344+ 3++3++3+4+2+23+1+41421-45++ 41 19
14 53214 FH2+H4++322++ 112+ 14+ +4+412213+1-4533 28 14
37 53216 +4 b+ 343211 H12+++ 4411 142+4+34-4545 38 18
44 53219 34324243+ L+ +++ 443+ + 144442444535+ 44 21
28 53221 F+24++++2+42+++ 4222+ + #2141 44+ +++-+ 14+ 46 22
25 53227 424+ 424234231 ++++++2341234+13~-4533 28 14
15 5322°% 42+ 3HHH24H 124+ 4443413444424 -455+ 39 19
it 53232 FH+t+rrtt ]+ 4+ 42424434342+ 4+-3++4 50 24
10 53237 ++31+4312+1++31++++++31+4+344+33-4+++ 39 18
48 53239 2+ 4+ 4+ 433423+ 12+4+1314+424++3-345+ 36 17
30 53242 ++3++3+++3++3+2++4++2143+21224++5+45 41 19

=) 53248 ++3233+ 4434+ +++++++2114+23132+-3544 34 17
& 53251 FH2+ 434223421 H13++++24 1434424+ -+ 44+ 44 20
26 53252 +H+ 1+ ++222+43+2+41431311+232+4++--555 30 15
16 53253 ++3133+2+ 1 ++312++++243+42+12+3-4555 28 14
4 53258 FH++4+ 14+ 14+332+42+4++424114+2+423-+5++ 41 19
49 53260 FHBH424 44242144443+ 421 +++4+++1++155 a8 23
31 53261 3+21331232+233+++++1342124132+-322+ 12 9
3% 53266 e+t +2 1424+ ++++ 4+ A4+ +321+2+-+5++ 53 25

41 53267 FHF T2+ 2+ [ H14243++1455+4 43 21
42 53271 FH2+ 43442401 H 144+ 434414444 2++455+ 44 21
46 53277 +4+32424343+++++++++4+3++1444+2+-4534 40 20
1% 53279 ++2++31+334+1+2+41++++343+24423-4545 28 14
20 53286 +EbdFEF 21+ 4444441334 1+++-3251 40 20
7 53289 +2++++++33+++3132+++31{2+21+14~-+543 33 16
45 53291 T2+ ++3++31+++1++132++4+1432414-4+5+ 34 16
17 53294 ++2++++33 1+ 3++21+2+2341231+++-4155 28 14
18 532%5 ++2++3++23++3++++++352+55322+34-45++ 38 18
2 53296 ++24+3+++22+++++ | +++34++++++4++-4253 46 23
9 53297 A F ]I FEF 2442814442+ 24 -+ 4+ 49 23
3 53300 +23+134222-2-+-~++2+3+41244+++-+555 25 12
24 53302 +22+1244324+3+13++4243+1221++1-452+ 32 15
29 53303 +222322++1H++12+4+4+2+4 113231 ++++15+- 32 15
13 33305 +H+F++ 121+ 43+ ++1++41341 4244424 44 21
473 533066 ++ 24+ 13+ ++3+++++++++221 1 ++4++++4 352+ 45 22
38 53308 B N e L 3G 2o kTt o o S A S S QU e A &0 28

1 53309 FH2+ 134223+ ++3++1+++43121+413+1-+5+5 34 16

24 53311 +H+r+H 2424+ 423442344+ 445+ + 52 25
3 53313 ++323312+2+4 4432+ 1 +++23+++2+4+4++-35+45 37 18
33 53314 1424+ ++++3+2+ 1 +++++ 1432124 +++~--12+ 37 18
a7 53316 42+ +2 |3+ 243+ 1+t R+ 5 53 25
22 53320 322++31+432+4243+21+++31234224+3-+531 23 11
23 53323 +++++3+2+3+++32+++++3++ 1 +4++++-455+ 47 23
12 53325 +22+13+223+21++421+++31+1324+++-3523 26 13
35 53326 ++24331222+43+1+++2231413+2213-+535 23 11
2 03327 +43243+ 44344311+ 444224+ +44++++-+254 39 19
27 53329% ++2++3+++3++31++1++++4+412+443+1-3555 36 18
3 53331 ++3433++2342+431+++++43+ 1 22+4 3+ -4+ ++ 41 19
40 53337 42233+ + 1+ + 4+ 24432+443+13243 38 19

Allo. Pnt 22222222202222222222222222222233333 Fulmark: 73

Total: 1874 901

FO [—8&R ] Lizhhe, #MOESEKART %2 ] AEE (CRT)



7 A P —{ELRIT 7 A MLEOIDO
1984, 11 BASIC SR L2700 7 3 v 7@ CHR) 203 (825

&7 v 2= LREFRFCAERI NG, AT (EREZIE T Y v 2 ~
ANEEESEIUD)

Do you want another copy? Yes (I)/ No (0)> W
2 [ —#]  ElHmrvantshsnbl 0] 2#A0175E, HBO
“Now it begins to print ‘Individual Slit” DOFERHIDH - TEAZEDE]
FMRE Do

FREQUENCY of Right Answers for Each Question

Class: Sho:2:E Year/Month/0Oay: 84/09/29, N.of Questions: 35
1!!"'21'1"3’I.l,4 IIIII 5 ''''' 6 llll 7”!"8"'.’90.’!10
I 45(2) 42(2) 14(2) 39(2) 35(2) 16(2) 36(2) 31(2) 28(2) 0(M
10 | &4(2) 36(2) 22(2). 29(2) 22(2> 37(2) 35(2) 48(2)y 41(2) 38(2»
20 | 8(2) 12(2) 23(2) 16(2) 15(2) 14(2) 13(2) 34(2) 27(2) 29(2
30 Fo5(3)> 18(3) 10(3) 16(3) 23(3) 04y 0Oy 0¢>» 00() 0O
Sum total of Points: 1874, Sum Total of R.A.: 901
N.of Students: 49 MAXIM.: 60 MINIM. 19
Average 3 38.24
Standard D : 7.06
EEXEHER

36, 37, 38, 39, A0RICHEL T BHEA “0(C )" ThBHOEKMENTFLE
B, T, EER 0] TRABFELRZVWADL [( )] ThHd, &
ORI TEFHTFEAE “0 (00" 2R, MAEEIYDEEL TEMD
THTHFETEIL, FHHTHDDLOTHL, 9FFEELHEL, 16
Fo FEIFETIODRELTORMALEL T D, 8§y PHIFTARD, bo
EHLTIRDH, mMAELPHEMT 2D C LT DR,

STUBENTS: 4% AV: 38.24 $T0:  7.08 DATE: 84/09/29

Right Answers 211321311-1322313213123411314232312 T.P R.A

{ 53213 ++2++3+++3++3++3++2+23+1+41421-+5++ 41 19

All. Paints: 22222222202222222222222222222233333
Ful Mark 73

STUBENTS: 4% AV: 38.24 STD: 7.06 DATE: 84/09/29

Right Ansuers 211321311-1322313213123411314232312 T.P R.A

2 53214 ++2++++322++112+41+++4+412213+1-4533 28 14
ALl. Points: 22222222202222222222222222222233333
Ful Mark 73
[N A

—BRSET I UK, mEO
Program : CARD READER is OVER



204 (826) IR F ok i EAEEIF
To go to Program : Analysis, first hit ‘Retrn Key’.
IZHEE HLFED

Then, when ‘OK’ sign has appeared, input ‘run “Analysis™
hitting ‘Retrn’.

?

MIRbIDH 1D, FOmHETTE 7 v 7520k, “Analysis” 2%
5

2. 5. Disk File 72\6>0OFEfT
2.2. D [ FEAHD #E L RfT] T, #ED

the OLD Data. (Y/N)? H
DfRG -7z (L 15158), Zhumsspleric, “Y” 2 AT 5 L, TTHED
7z File #FL. Disk 7.5 CODES #F#NC LT, =07 — 2% AJ$
Bo M= F e )= RX-DFFHAHED, HE, A EFIERE L T3H301TH
SOEIRIASETT 5, RO F - 2 BT [—EE] [MEARE E] &
UTHIFT 2o Thiug, ZOROE LIEELTTLE LW

3. 0. 7wv—+Fw—t

FEo7w 7 A O AR R TIVIEROED L B) ThHD,

4. 1. 5777 OBME LT
%3 [Run “Analysis”] &% — AC LW ETTRIE, BE (CRT)

FRICEH O ORDOFREE DI D,

Program : Analysis
TOTIZHBDIFET

Code$? B
&, File Name % F KR35 500, Az [Sho: 2: E] #x% - AT 5
L, 7'ua /5 a “Card” ©Disk # 1 12U L2 ESRK 7 v 4 v (Sequen-
cial File) /Mb DO AT (Input) A% %, FARRS, FORNREERT S
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A e ON
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!

78—~ ¢F 5~} : Program Card



206 (828) IR R R T HOS% 3 B
23, BT E D OIS A200T, EAAIECThRTWD 2 L aEkT
AHITT XU,

YT, AR T ST

Full Mérk : 73
LENY, FOTICEBOE

Hit ‘Retrn Key’ if ready. I}

BT 575, [Return| ¥ —%ENNE, 7'a 75 ni3nfhmcdndBs
7 7 e BRECETT S (L 1640),
FERT 5 &, 1R ALBERRCROEND B, [, [URELH
{~X< Line Printer ﬂiﬁéﬁfﬁé&)éo
Frequency Graph of Obtained Points

CLASS: Sho:2:E(84/09/29) Students: 49 AV: 38.24.

70|
&6 |
63 1
59 R

ul
(]
-

¥8]
w
—
HWERWAOU®WW

I

|

i

I

!

_t—r--r—-t—--r—t~r——rF~pt—t— = = =
0 ) 10 5] - 20

Maxim: 60 , Minim: 19 One Step: 3.650

TR T Ui\ oie, SEIREEO

Hit ‘Retrn Key’ if ready to go to SP Analysis. I}
MEOTIREbNSA (. 2070), EIFICLE2(E5134T Line Printer
MEZELTHHDOT, FIROKRT 28 2ETh <L, [Return| ¥ — %0
T, 75 CEEORITIE A,

Now working, No !



1984. 11

7 A AL

BASIC Eic rA7w 5

iR & AT

Now working, No 2

Now working, No 3

DERFETHLND, DL,
2, GJ, 3, GUJ, b, G, 5, GUJ, 6) OZRILOEESY LD 6,
AR CUNE DT E~SFE LT DEDTh b, ZOFEELH - F D~ —7

FEATRD ORFYTIESR L R DT,

=
-

A M ABEOID D
7(2) (HEED

7
v

2y a— %= G(,

1Mo CARDS, 2% b,

BT T B IcDIC 2 Wil DRl & LR & %,

4.

2.

S PR RDOFELT

TR T35 &, ABTHELRRT 22, HENADIEAHBLTLE
DG, IEFICHET LTS Z & BB LISMTITERI 2\ S POHTER
B0 v 2= RE LT LT

207 (829

D, GQ,

1 &Rk

CLASS:Sho:2:E (84/09/2%9) Students: 49, [\, 38.24
R.A. | 1 2 3 4 5 -1 | 1 2 3 4 5 -
1)y 2 | 145 3 0 0 or 491 2.0.21.8 6.1 0.0 0.0 0.0
21 |42 7 0 0 0 ol 4%9{ _85.7 i14.3 0.0 0.0 0.0 0.0
31 14 24 11 0 0 0l 491_28.6 49.0 22.4 0.0 0.0 0.0
4 ) 3 | 3 7__39 Q 0] 0] 49| 6.1 14.3. 79.6 0.0 0.0 0.0
5y 2 ! 6__ 35 3 0 0 ol 49! 12.2.71.4 16.3 0.0 0.0 0.0
&)1 |16 & 27 0 0 ¢l 49! 32,7 12.2 55.1 0.0 0.0 0.0
7)) 3 11 2_36 0 0 0l 49t 22.4 4.1_73.5 0.0 0.0 0.0
&1 ] 31 13 5 0 0 Ol 491 _63.3 26.5 10.2 0.0 0.0 0.0
91 1_ 28 13 8 0 0 0l 491 _57.1 26.5 16.3 0.0 0.0 0.0
10 ) - {15 14 20 0 0 0i 491 30.&6 28.6 40.8 0.0 0.0 0.0
11 ) 1 |44 4 o] 0 0 11 491 _8%.8 8.2 0.0 0.0 0.0 2.0
12 » 3 ] 2 11_ 36 G 0 01 491 4.1 22.4 73.3 0.0 0.0 0.0
13 ) 2 | g 22 17 o] 0 11 491 18.4 44.9 34.7 0.0 0.0 2.0
i4 ) 2 P11 29 9 Q0 0 ol 49} 22.4 . 59.2 18.4 0.0 (0.0 0.0
13 ) 3 P12 14__ 22 o] 0 11 49 24.5 28.6_44.9 0.0 0.0 2.0
16 > 1 |37 7 4 o] 0 11 491 _75.5 14.3 8.2 0.0 0.0 2.0
17 ) 3 11 3_35 o] 0 ol 491 22.4 ¢6.1_71.4 0.0 0.0 0.0
18 ) 2 ] O 48 1 0 6] 0l 491 0.0 98.0 2.0 0.0 0.0 0.0
19 ) 1 f__ 41 7 1 0 0 0of 49/_83.7 14.3 2.0 0.0 0.0 0.0
20 ) 3 } S 5 38 0 1 0Ol 491 10.2 10.2.77.6 0.0 2.0 0.0
21 ) 1 | 8 17 16 8 ¢} ol 491_16.3 34.7 32.7 16.3 0.0 0.0
22 ) 2 1 16 12 10 11 0 Ol 49} 32.7_24.5 20.4 22.4 0.0 0.0
23 ) 3 11 4 23 10 1 ol 49} 22.4 8.2_46.%9 20.4 2.0 0.0
24 ) 4 ! 23 1 8 16 1 0Ol 49) 46.9 2.0 16.3.32.7 2.0 0.0
25 ) 1 I_ 15 15 8 11 0 0] 491_30.6 30.6 16.3 22.4 0.0 0.0
26 ) 1 | 14 14 & 13 0 Ql 491 _28.6 28.6 16.3 26.5 0.0 0.0
27 ) 3 I 15 713 14 0 Ot 491 30.6 14.3_26.5 28.6 0.0 0.0
28 ) 1 134 5 & 4 0 0 491_6%9.4 10.2 12.2 8.2 0.0 0.0
29 ) 4 | 4 13 5 27 0 ol 491 8.2 26.5 1¢.2.55.1 0.0 0©.0
30 ) 2 l 627 8 & 0 Ol 491 12.2.59.2 16.3 12.2 0.0 6.0
31 ) 3 | 2 Q ) 1 o 411 491 4.1 0.0_1¢.2 2.0 0.0 83.7
32 ) 2 ] 1_18 10 17 0 31 4%1 2.0_36.7 20.4 34.7 0.0 6é.1
33 ) 3 ! 4 5 10 O 30 ol 491 8.2 10.2.20.4 0.0 61.2 0.0
34 ) 1 I__ 14 5 6 5 17 Ol 491_32.7 10.2 12.2 10.2 34.7 0.0
35 ) 2 ) 2__ 23 6 5 12 11 4% 4.1 _46.92 12.2 10.2 24.5 2.0




208 (830) HREF HE R FHEFE I
S PoITERD e T, LADOMOIEEAE, LGRIOMOF0ESRER
THFOTIC THAET LI LRLI. T, WHUWHERKBA LA
WTH IEBEDOHMORIBECHT 2FNGEHD LN TED, ZOTHIE
Line Printer RSN TV AEEEXFERLI-LoThs (A1 2580,
2590; 11. 2650, 2660),
T T LORT EEDIT,

You have done with Program : Analysis
B THRIZERT S, FOTIREHBOFEN
To get out of Program, just strike ‘Retrn Key’.

ZEITFD M0, Flo LY [Return | ¥ — ZANHLRFE AT - T L VREE
{272 %,

7w 7 7 & “Analysis” OFHRREIZAROLLNTI ~45TH S,
“Card” othdH 5 “Analysis” O TF T, #Hl77D “Sho : 2 : E” T
F 2%, MToxE L,

mEw, T ZTHITCHIARBR AT Lo\ & 2Tk, e s L iR
EFHINICREE (Load) 72D T, “Run” %% - AL, [Return| % -
I Ay, BUZ [£.5] Ox —%I T IUE, ZOHOHBDITRL K
“Program : Analysis” LI FAEE (CRT) BT 5, £D0%BD
RIS & 8D TH %,

SPoOHTRICRENSGEE, LDHRECHZLE, 1XRHCOWT, 4
ZAE, 6RO 77, HAWIX, BE, M7 7 78R K RTLHILLEL
BB, H—7 AL DIHIE, 2,000B80ELDOH 7 Z 7eb, £DF 5
PO ENL, MEOEN, % & L TOFEOHDOE R ERT 5 FH
D X237 B0, B AZSRLTHHRII ZOKEG (Response) DF
BrREL, EOLOEGUAED 2T\, 7 7 ABATIREEN, O3
SR UIzh, EARBEOAERITAHFNEETHA D

T 772y Vo -2 - OEMEICH QIR THLDLN, Tk
Line Printer TH HbHT &, SEEOHMHECERINLDT, IEHOH 7



& HRAT = A FALHE O O
1984, 11 TR T e Gy 209 (831)
/7%Wmﬁéri@&k&mﬁzﬁf%é Hb L G mens, €
hoe-hew, oo7a s 70Tk, EELTs,

2y L = A I BT S PANTERAE BRI 2 AL, Ak
DETORE N EhE D, Mx OBRMICID b e BEmE 2 L S HEATN
VE L\, BREOREREOBFC F VIS L)y, FEDRER S D3
2 BN KD, MEORROH SR E, REWAMERE L £ O %L HE
Lo #i OPEBIZ ST, B X OXEADHBES 2 L Th o,

4. 3. Tm—+Fw—1h

o W b
v
File Name
~____’ 7
AT] .
4
7 e
ey o 7L L = A 4
A
u y
4 4 L.PRINT
7
y ﬁ
i
. 2 W I AL B
! *j u
Ll L.PRINT




210 (832) H R s T BEBEI T

5. A&V OHAMR

B NGB TH BB “Card”, “Analysis” @i 7 v 75 4 v 3,
TORITICE ST, AWMO A€ ) X FHES Dot BT &« 8
— F1KEEE -0y 27 4 Tlx, EFIEE (Statement of Dime-
nsion) %600, 2% b 1 FHEEHICHATEH Z & LAETH 5,

AT Y OBEBEBRIEL T <, EBITRHIC 71 75 2 Adl LTROG S
ZRETUE 4 FHOBFOIRERELRS,

for I=0 to 3: print fre (I); : next

fre® KT Aeyexv7joRes, fre) E 752 bex )7
OEF, OF D T w7 A RIUET HRE, fre@ EFHEOAIO A &
T, fre®) Ay v e Fm T ey 7] S TEA= 7| D%
BT, EROBTFIIERCRBREART,

St LU R S RS L 0% = ) 7 O (free) FRE, OF 0B
e R IUE, 7 T DR ET B

@ f5 Card (T Analysis (&5

fre (0) 63,208 58,341 ( 4.967) 60,802 ( 2,394)
tre (1) 53,520 40,224 (13,3000 46,943 ( 6 581
fre (2) - 116,732 98,565 (18,167) 107,745 ( 8,987)
fre (3) 223, 248 | 218,784 ( 4,464) 220,624 ( 2,624)
fre(®+fre(3) | 339,980 317,319 (22,631 328,369 (1L 611)

a7 LEARMARAR A b, AIBREAMAS KN Fio+ X0,
FRLUL2 Y F&EBEALOI3R DT, 8 v FHR2NY 2> T4 FIH
TEDHDTIEI DA D D



> Ak e L ST 7 2 N AL O T D
1984. 11 Efsxé%ggoﬁg 59%— 2279 (B 211 (833)

1000 REM-~-—-- CARD READER PROGRAM “Class Unit" V. 2.0 —-emm—eoeeu
1010 *

1020 *

1030 * Card Reader Pragram for Class Unit (File Nme "Card'™)
1040 °* Version 2.0 by Toshihiro NAMBA
1050 * Date of Make: Sept 25, 19784
1060 * Variants:i-—-

1070 * Al Record No. or I

108G ! AS: Input #1 from DCDS4B

1090 ! AAS: String of F$s or Right Answers

1100 * AV Average or W/N

1110 ? B: Year Grade or YR

1120 ! BB Acquired Points or L

1130 Cs Shusseki Bangou or NO

1140 7 CODE$: Class Name

1150 CR$: String of Ansuers

11460 D: No. of Right Answers or O

1170 ! O%: CR$ of Students

1180 GATE$: Date of Marking (Y/M/D)

1190 ? Es: String of Marked Answers of Students

1200 ' Fee Bit of RA$ or Right Answer of a Question
1210 ' FR: Sum of Right Answers of a Question among A1l Students
1220 * FFR%: String of STR$ of All FR's

1230 ' G$: Bit of a Student’s Answers

1240 ! K Allocated Points for Questiaon

1250 K$: STR$ of K or 1 Byte while K in 2 Bytes

1260 ? KK No. of Questions

1270 ? L: Acquired Points of a Student

1280 Ne No. of Cards having been Read

1290 * NO%: STR$ of NO or Shusseki Bangou

1300 ? Q: No. of Right Answers of a Student

1310 * Ps: Numerals of A%, Canstituenis of CR$

1320 ' R$: Numris of 2 Dimensions to point out Lihere Oouble-Marked
1330 RA%: CR$ of Right Answers or of Card " 9999%"
1340 ¢ Q% "+" to indicate G%=F$ else Q%=6G3%

1350 ! S: Sum af SQR(SS)s or Sum of N times STD

1360 * 5S¢ 2nd Power of Deviation or (AV-L)*2

1370 STD: Standard Deviation of Class ar S/N

1380 * Y Sum Total of Right Ansers by All

1390 YMDs$: Year/Month/Day or DATES

1400 ! W Sum Total of Acquired Points by All

1410

1420

1430 '

1440 *

1450 CLEAR,&H1ECO

1460 CLS:WIDTH 80,25:CONSOLE 0,25,0,1:L0CATE 10,10:COLOR &

1470 LT$="PROGRAM : CARD READER":X$=AKCNV$(LT$) : PRINT X%

1475 PRINT TAB(135); "for MARKING a class of STUDENTS. ":PRINT:PRINT

1480 COLOR 7:PRINT TAB(10);" What is the CODE of the cards to be treated":
1485 INPUT CODES$

1490 DIM P$(80),A(100),B(100),C(100),0$(100),0¢(100),E$(100),BB(100) ,K(S0)
15300 DIM FR(B0) ,K$(80)

ETIE : 1060 ° Variants —> 1060 > Variables
1450 CLEAR, &HIE00 —> 1450 CLEAR, &H6000
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Tarssn 102
1910 LOCATE 10,20:PRINT "¥pu have only to make a print of”
1515 LOCATE 10,21 :C0LOR 4:INPUT"the OLD Cata. (Y/N)"; ZA$ :COLOR 7

1520 IF ZA%="Y" OR ZA%="y" GOTO 4320:PRINT :PRINT
1530 PRIMNT "' okokok ok bk ook ook ok ok ok ok ok ok shok ok ok ok skooR ok akokok ko ok ook ok ok o ook ook ok okok ok ok ok ok ok !

1540 PRINT 'r+ "
1550 PRINT ' CARD READER PROGRAM Aokt
1560 PRINT ' for ONE (Class ("3 CODES; MYMSTABISTY 3 A"

1570 PRINT " kokodok ok o f b ok gk dokok 3 kb ok kok ok ok & o dOk &Kk o Sk R kR o kol e oKk Ok Ok ok ok ko '
1580 DC1$=CHR$ (BH11):STX$=CHRS (&H2) :ETX$=CHR$(&H3) : NAK$=CHR$ (&H15)
1590 OPEN"COM:E71"ASHI

1600 BEEP:PRINT "Put the cards on the READER and push 'START!' switch"”
1610 INPUT "Strike 'Rirn key?if ready";S%$ 'Qummy Input

1620 N=0

1630 INPUT "How MANY questions are there" ;KK

1640 *AGAIN

1650 BEEP:COLOR 1:PRINT "#*#Npuw it began reading. NO.";

1440 COLOR 2:PRINT N;:COLOR 1:PRINT 'sheet" $COLOR 7

1670 PRINT #1,DC1%;

1680 AF=INPUTS(1,H#1)

1690 IF A$<>STX$ THEN PRINT "Redo from the start.":STOP

1700 AS=INPUTSE(1,#1)

1710 IF As=NAK$ THEN *ERROR.

1720 WHS="":UL$=""

1730 *LDBOP.

1740 WHS=UWUHS+AS

1750 AS=INPUTS(1,#1)

1760 IF A$=ETX$ THEN *QUIT.

1770 UL$=ULS+AS

1780 A$=INPUTS(1,#1D)

1790 IF AS<>ETX$ THEN *LOOP.

1800 »QUIT.

1820 DLN=KK+7 LEN(UHS)

1830 GOSUB*DECIPHER

1840 GOSUB *RECORD

1850 N=N+1

1860 ERASE P$

1870 DIM P£(8&0)

1880 GOTO *AGAIN

1890 *ERROR.

1900 BEEP:BEEP:BEEP:PRINT "kx*Accident in readingkskskidoon!

1910 INPUT "Strike RETURN if you are to stay. Else input ’*CLOSE® if you want
to go out.";W$

1920 IF WUs="CLOSE" OR W$="close” THEN CLOSE #1 :G0TO 2740 ELSE #AGAIN
1930 *DECIPHER -

19240 FOR I=1 TO DLN

1950 SUB$=MID$ (WH%,I,1):5UB2%=MID$(WLS,1,1>

1960 IF SUB$=CHR%$(68 THEN IF SUBZ$=CHR$(&4 ) THEN P$(I1)="0"

1970 IF SUB$=CHR$(72 THEN IF SUB23=CHR$(&4 ) THEN Ps(I)="1"

1980 1IF SUB$=CHR$(80 THEN IF SUB2$=CHR$( 64) THEN P&(I1)="2"

1990 IF SUB$=CHR$(26 THEN IF SUB2$=CHR%(64 ) THEN Ps(I)="3"
2000 IF SUB$=CHR$(64 THEN 1F SUB2%$=CHR%$(65 ) THEN P$(I1)="4"
2010 1IF SUB%=CHR%(&4 THEN IF SUB2%$=CHR${(66) THEN P$(1)="5"

2020 IF SUB%=CHR$(é4 THEN IF SUB2%$=CHR${(68 ) THEN P$(l)="6"
2030 1IF SUB$=CHR$ (&4 THEN IF SUB2%=CHR$(72 ) THEN P$(I)="7"
2040 1IF SUB$=CHR%$(s&4 THEN IF SUB2%=CHR$(80 ) THEN P&(I1)="8"
2050 IF SUB$=CHR$(é4 THEN IF SUB2%$=CHR$(946 ) THEN P$(I)="9"
2060 IF SUB$=CHR$(64) THEN IF SUB2%=CHR$(64) THEN P&(Il)="-"

GE)  194077LL T 60048 x5 & L-BRATETICB O TE, RO L 5 ITHIOE
Hi7rm 77 nwBE L. chink b Z&E< ~ 7 OBEOFRMINIS T S,

1920, FOR I=1 TO DLN
1925 DIM P2z (10)

[WENVENVENENEWEWENE

1930 W=ASC (MID$ WH$,I,1))!IF W >-64 THEN GOSUB *CAT.1
1940 W2=ASC (MID$ WLS, [, 1)):IF W2 >64 THEN GOSUB #CAT.2
1941 FOR J=0TO 9

1942 IF P%(J) THEN P$(I) = RIGHT$(STR$(P2% () —1), ) : MM=MM--1
1943 NEXT J

1945 IF MM>1 THEN P$(I)=""

1950 IF P§(I)='""" THEN P§$(I)-=!'—"

1955 ERASE P2:MM=0

1960 NEXT I

1970 GOTO 2210

1980 *CAT: 1

1990 WoWY4

2000 IF W MOD 2 THEN P2;(0)—1
2010 W=WY2 _

2020 IF W MOD 2 THEN Pz (1) -2

2030 W-=WY2
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2070
2080
2090
2100
2110
2120
2130
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w7 n 103

NEXT 1

RETURN

*RECORD

RC=N
YRE=PS(2)
NO$_.|I 1]
FOR I=3 TO 7:NO$=ND%+PE(I):NEXT I:NO=VAL (NO$) :NO$=STRS(NO)

2140 IF LEN(ND$)<>6 THEN PRINT "ERROR!!!#sx*x+in Shusseki Bangou#*kskks " :AS="ShuBa
n":G0TO *CHECK

2150 CR$=" "

2160 FOR 1=8 TO DLN:CR$=CR$+P$(I):NEXT I: IF LEN (CR%)<DLN~6 THEN PRINT "ERROR!!
'****1n Marks of Answers *ikk4x"tAS="MrdAns " 1GOTO *CHECK
2170 ' m====—— Right Answer ——————=——-——-—-———-- - oo oo —e— e o o— o mm oo
2180 7

2190

2200 IF N=0 AND NO$=" 99999' THEN RA$=CR$:PRINT N;NO$;RAS:RETURN
2210 ' ——mm————— Recording Students’ answerg-—-—-————-"—"—-—""""""7"7~"~77
2220 PRINT USING "###";RC;

2230 B(NY=VAL(YR$) :PRINT " ";B(N);

2240 C(NY=VAL(NO$) :PRINT C(N>;

2250 DS(N)=CR$:PRINT O%(N)

2260 RETURN

2270 *CHECK

2280 DIM R$(60,12)

2290 FOR 1=1 TO OLN

2300 W=ASC(MIDS(WHSE,1,1)):IF W THEN GOSUB #PAT.1
2310 W=ASCMIDS (WL, 1,13 'IF W THEN GOSUB *PAT.Z2
2320 NEXT I

2330 GOTQ 2600

2340 *PAT.1

2350 IF W MOD 2 THEN R$(I1,0)="R"

2360 W=W¥2

2370 IF W MOD 2 THEN R$(I,1)="X"

2380 W=ux2

2390 IF W MOO 2 THEN R%«(I,2)="0"

2400 W=W¥2

2410 IF W MOD 2 THEN R$<I,3)="1"

2420 U=W¥2

2430 IF W MOD 2 THEN R&(I1,4)="2"

2440 UW=W*2

2450 IF W MOD 2 THEN R&(I1,5)="3"

2460 RETURN

2470 *PAT.2

2480 1IF W MOD 2 THEN R$(1,6)="4"

2470 W=W%¥2

2500 IF W MOD 2 THEN R$(I,7)="%"

2510 W=W%2

2520 IF W MOD 2 THEN R$(I,&8)="6"

2530 W=W¥2

2540 1F W MOD 2 THEN R$(I,2y="7"

2550 UW=W¥2

2560 IF W MOD 2 THEN R$(I1,10)="8"

2570 W=W¥2

2580 IF W MOD 2 THEN R$(I,1f)y="3"

2590 RETURN

2600 REM -————---—— CHECK PRINT =— e e e
2610 LPRINT VYR$;NO%;CRs;" A

2040 IF W MOD 2 THEN P%(2)=3

2050 W=W¥2

2060 IF W MOD 2 THEN P2 (3)=4

2070 RETURN

2080 *CAT.2

2090 IF W2 MOD 2 THEN P%(4)=5

2100 W2=W2¥2

2110 IF W2 MOD 2 THEN P2 (5) =6

2120 W2==W2¥2

2130 IF W2 MOD 2 THEN P2(6)=7

2140 W2=W2¥2

2150 IF W2 MOD 2 THEN P%(7)=8

2160 W2=W2¥2 _

2170 IF W2 MOD 2 THEN P2 8)=9

2180 W2=W2¥2 .

2190 IF W2 MOD 2 THEN P2 (9)=10

2100 RETURN
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2620 FOR J=2 TO 11

2620 FOR I= 1 T0O DOLN

2640 IF R$(I,J)=""" THEN LPRINT CHR$(185)

2650 LPRINT R3(I,J);

2660 NEXT 1

2670 LPRINT

2680 NEXT J

2690 FOR 7=1 TO S:LPRINT : NEXT 2
2700 ERASE R$:G0T0 1910

2710

2720

2730 ¢!

2740 CLS

2750 PRINT AR R R kR R R koo ok O Ok Ok Rk ok ok koK R ok Kk o gk

2760 PRINT '+«
2770 PRINT "+
2780 PRINT "ax

2800 X=LEN(RA$) :PRINT :PRINT:

PROGRAM FOR MARKING

] Students’
2720 PRINT PPk R R R o Kk R bR kR R KOk kR K kR K kK

okt

LR
CODE(”;CODE$;”)“;TAB(53):” Aokl
kg R ok ok ok ok Ak dok ok ok okok ok P

2810 COLOR 6:PRINT “How many Points do you allocate for each question?"”

2820 ALL . PNT$=""
2830 FOR J=2 TGO X
2840 PRINT "No. ";J-1;"

Pts'; t INPUT K(I)

2850 Ks(J):RIGHTsiSTRS(K(J)),1): ALL.PNTS=ALL .PNT$+K$(J)

28860 NEXT J

2870 COLOR 7:INPUT "Are you sure? (Y/N)Y'"" ;A%

2880 IF A%="Y" OR A%="y" THEN ELSE 2810
2890 ¢

2900

2910 DIM F$(80)

2920 PRINT RA$:AA$=""

2930 FOR H=2 TO XiFS(H)=MID$(RAS,H, 1) :AA$=AAS+F$ (H) :NEXT H
2940 LINE INPUT"Strike *Rtrn Key' if ready' ;A

2950 PRINT Mesmmmmmmmm e LT

2960

2970 REM —---—wmoeeee FILE READING —-m-——w--

2980 N=N-1tFOR J=2 TO X:FR(J)=0:NEXT
2990 FOR I=1 TO N

3000 PRINT I;TAB(10);C(1);

3020 DIM G$(40),Q%(40)

3030 Es(Iy=""

3040 FOR J=2 70 x

3030 GH(J)=MIDS(Ds(1),J, 1>

3060 IF G$(J)=F$(J) THEN A$ () ="+"1FR{JI=FR(J)I+1:0=0+1:L=L+K(J) ELS
E Q$(J)=Gs(D

3070 ES(II=E$(I)+3%())

3080 NEXT J

3090 COLOR 6: PRINT TAB(l1é&); Es(I);" "y
3100 PRINT USING"H##";0;

3110 PRINT USING"###";L;

3120 PRINT :COLOR 7

3130 A(L)=1:BB(1>=L:0(1)=0

3140 W=l+L:Y=Y+0

3130 ERASE G%,0%:0=0:L=0

3160 NEXT I

3170 BEEP:BEEP!PRINT CHR3(12)

3180 REM-----=mw—mm Sorting -—--------mmme
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3190 PRINT ok dokoookok ok ootk kol ok stok ok skorokok ok ok ook ok o0k o koo kok ok okof 0k ok ok ok ook ok ok e

3200 PRINT "a*x ARRANGING IN ORDER OF Shusseki Bangou L

3210 PRINT koot ok sk ook ok ok ok ok koo ook ook o okokokok skl sk o kol ok ook ook s ko ok oo ok sk ko 1

3220 COLOR 6:PRINT "The Number of the Students (";CODE$;'")';N :COLOR 7

3230 LINE INPUT "Strike Rtrn Key, if ready”;A$

3240 FOR M=N-1 70 1 STEP -1

3250 PRINT "Now sorting"

3260 FOR J=1 TO M

3270 IF C(I>CI+1) THEN SWAP C(J),C(J+1):SUAP ACJ) ,ACJ+1) :SWAP E$(D),
E$(J+1):SWAP BB(J),BB(J+1):1SUAP D(J),D¢J+1)

3280 NEXT J

3290 NEXT M

3300 BEEP:BEEP:CLS:LOCATE 10,10

3310 YMD$=DATES

3320 COLOR 4:PRINT "COMPLETED#*#x*#idkxNow LIST is printing.":CLS:LOCATE 16,10
3330 COLOR 7:INPUT "Do vou keep Data into the file? (Y/NY"; XA% ’
3340 IF XAs="y'" OR XA$="¥" THEN GOSUB 4210 ELSE 3340

3350 GOSUB *FREQUENCY

3360 GOSUB *STATISTIC

3370 *PRINT. *for class data
3380 LPRINT " CLASS NAME: ":;CODE%

33%0 LPRINT M"STUDENTS:"; tLPRINT USING"H###4'";N;
3400 LPRINT ™ AV:"; LPRINT USING"###.8%#";AV;
3410 LPRINT " STD:"; :LPRINT USING"H#H#.4#";ST;
3420 LPRINT " DATE:";YMD%

3430 FOR 1= 1 TO 70: LPRINT CHR$(148) 3 :NEXT:LPRINT
3440 LPRINT "Right Answers " AAE; T.P R.A'
3450 FOR I=1 TO 70: LPRINT CHR$¢149)::NEXT: LPRINT
3455 MAX=0:MINI=FULMRK

3460 FOR I=1 TO N
3465 IF MAX<BB(I) THEN MAX=BB(I1)
3466 IF MINI>BB(I) THEN MINI=BB<(I)

2470 LPRINT USING "###';A(1);
3480 LPRINT TAB(7);C(1);

3490 LPRINT TAB(16)3E$C(L) ;" H
3500 LPRINT USING"####";BB(]);
3310 LPRINT USING"##4##';D(1)
3520 NEXT 1

3530 FOR I=1 TO 80:LPRINT CHR$(148);:NEXT:LPRINT

3340 LPRINT "Allo. Pnt ";:LPRINT TAB(16);ALL.PNT$;:LPRINT TAB(&5) }"Fulmark:
3545 LPRINT USING"####";FULMRK

3350 LPRINT TAB(S0):"Total:";

3560 LPRINT USING"####H#H";W; iLPRINT " ";:LPRINT USING"#H###88";Y
3570 LPRINT CHR$(8HC):CLS

3580 PRINT "FREQUENCY of R.A. for Each Q"

3590 PRINT TAB(10);CODES$;

3600 PRINT TAB(30);YMD%$

3610 PRINT TAB(A);“ 1’!!I12"I”3’0,ll4l'll'5”"'6D”"7l.'llal!!l’g”’llon
3620 FOR I=1 TO 80:PRINT CHR$(149);:NEXT:PRINT

3630 PRINT TAB(4);CHR$(150);:FOR J=2 TO 11:PRINT USING"EH#":FR(JY3::PRINT "UKS(C
Iy sNEXT : PRINT
3640 PRINT "10"; :PRINT TAB(4);CHR$(150);

3650 FOR J= 12 TO 21: PRINT USING"###";FR(J); tPRINT “(";K$(J)3")"; :NEXT:PRINT
3660 PRINT "20'";:PRINT TAB(4) ;CHR$(150):

3670 FOR J= 22 TO 31: PRINT USING"###";FRCI); tPRINT "(";K$(J);")"s tNEXT:PRINT
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3480 PRINT "30";:PRINT TAB(4);CHR$ (1507 ;
3690 FOR J= 32 TO 41: FPRINT USING ###'";FR(IY;+PRINT "("3KS$CI) ;") "3 «NEXT:PRINT
3700 FOR I=1 TO 70:PRINT EHR$(148);:NEXT:PRINT

2710 PRINT "Sum Tatal of Paoints: CPRINT USING '###84#'" ;U
3720 PRINT ', Sum Total of R. A P IPRINT USING' ' H####8" ;Y
3730 PRINT I‘N of Students:"; :PRINT USING"8#4#";N:

3740 PRINT " Average U e PRINT USING H#H# ., ##8" AV

3750 PRINT " Standard D :";:PRINT USING"H#4##.44";57

3755 PRINT ' Maxim. ¢S PRINT USING ##H#" 1 MAX

2756 PRINT " Minin. ¢y tPRINT USING“####”'HINI

3760 LPRINT "FREGUENCY of Right Answers for Each Guestion"
2770 LPRINT TAB(S);'"'Class: " CODE%;

3780 LPRINT TAB(30);”Year/NDnth/DaY: "SYMDS

3720 LPRINT ', N.of GQuestions: ";KK

3800 LPRINT TAB(S);” 1717:121;l1|3|9|114)1,”Sv|11v61o11:?libn’8»li»n9|nrt10"
2810 FOR I=1 TO 80:LPRINT CHR$(149); :NEXT:LPRINT

3820 LPRINT TAB(S);CHR$(150);:FOR J=2 TO 11:LPRINT USING"H##"3;FR(J); :LPRINT G
HECTY ;") "3 ' NEXT:LPRINT

3830 LPRINT "10"; :LPRINT TAB(S);CHR$¢150);

3840 FOR J= 12 TO 21:LPRINT USING ###"3FRCJ) ;:LPRINT "("3K$CJI) ") " iNEXT:LPRINT
3850 LPRINT "20";:LPRINT TAB(5);CHR$(150);

3860 FOR Jd= 22 TO 31:LPRINT USING H##";FRCJ) 3 :LPRINT "(";K$(J) ;") "3 sNEXT:LPRINT
3870 LPRINT "30";:LPRINT TAB(S) ;CHR$(150);

2880 FOR J= 32 7O 41:LPRINT USING"###'";FR(J); :LPRINT "(";K$(J);")"; tNEXTILPRINT
3890 FOR I=1 TO 8O:LPRINT CHR$(148); :NEXT:LPRINT

2500 LPRINT "Sum total of Pointsi"3 :LPRINT USING"H#H##H";U;

3910 LPRINT " Sum Total of R.A.:";:LPRINT USING ####$#H";Y

3920 LPRINT ”N of Students:";sULPRINT USING"####";N;:LPRINT TAB(25) ;" MAXIM.:";
39225 LPRINT USING"####";MAX; :LPRINT TaB(45);" MININ "3 tLPRINT USING”####“:MINI
3930 LPRINT Average My tLPRINT USING”####.#%”:AV

3940 LPRINT ' Standard D :';:LPRINT USING"####.#8";ST

3950 LPRINT CHR$(RHC)

3960 INPUT “Do you want ancther copy? Yes(1)/No(0)"1XZ%

3970 IF XZ%="1" THEN GOTQ #PRINT. ELSE CLS:LOCATE 10,10:COLOR 5

3980 PRINT "Now it begins to print *Individual Stit?."”

3990 LDCATE 10,12:LINE INPUT "Hit "Retrn Key' if ready.";W$

3995 COLOR 7

4000 *PRINTZ2. 'For Individual [Data

4010 !

4020 FOR I=1 TO N

4030 LPRINT "STUDENTS:";:LPRINT USING"H#HHH¥H" N}

4040 LPRINT AV :LPRINT USING"H###.8#";AV;

4050 LPRINT * STO: "3 1LPRINT USING"#H4#.48" ;ST

4Q60 LPRINT " DATE: ™;YMD%

4070 FOR J= 1 TO 70: LPRINT CHR$(148) ; :NEXT:LPRINT

4080 LPRINT "Right Ansuers "1AAS; T.P R.A"
4090 FOR J=1 TO 7O:iLPRINT CHR®(14%9);:NEXT:LPRINT
4100 LPRINT USING "#H##'";L;

4110 LPRINT TAB(7);C(I1);

4120 LPRINT TAB(1&);E$(I) ;" 'y

4130 LPRINT USING"H###";BB(I);

4140 LPRINT USING"###4#";0(I)

4150 FOR J=1 TO 70:LPRINT CHR$(148); :NEXT:LPRINT

4160 LPRINT "Al11. Points:";:LPRINT TAB(16) ;ALL.PNTS;
4165 LPRINT TAB(62);"Ful Mark"; :LPRINT USING ###";FULMRK
4170 LPRINT CHR$ (&HA) ;CHRS (BHA)

4180 NEXT I
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4190 LPRINT CHR$(&HC) :CLS

4191 LT$="Program: CARD READER is OVER.":X$=pKCNVS(LTS$)

4192 LOCATE 10,10:COLOR &:FPRINT X%

4193 LOCATE 10,13:PRINT "To go to Program:Analysis,first hit 'Retrn Key'
4194 COLOR 7:PRINT TAB(10);"Then, when 'Ok’ cign has appeared,"”

4195 PRINT TAB(1O);"input 'run '*Analyis*’ ',hitting *Retrn’."
4200 END

4201 *

4210 P mmm s e Subroutines—————-——rom e
4211

4220 * ——mmmm - Keep Data in Seq. File —~-----mmmmme e ==

4230 GOSUB 4440
4240 OPEN "1:"+CODE$ FOR OUTRPUT AS #2
4250 WRITE #2,YMD&,N ,AAS,FFRE, X, KK
4260 FOR I=1 TO N:UWRITE #2,A(1),CC(1),E$(]1),BB(I),D(I)NEXT
4270 FOR J=2 TO X:WRITE #2,FR(J),K(J) :NEXT
4280 CLOSE #2
4290 RETURN
’

4320 ' —--mm Take Data from Seq. file —=-—————mommmmmee

4340 OPEN "1:"+CODE$ FOR INPUT AS #2

4350 INPUT #2,YMD$,N,AA$,FFR%, X ,KK

4360 FOR I=1 TO N:INPUT #2,ACI),CC(I),E$(1),BB(I),D(I) tNEXT

4370 FOR J=2 TO X:INPUT #2,FR(J),K(J):NEXT

4380 CLOSE #2 :FOR I=s1 TO N: W=W+BB(I):Y=Y+D(I) :NEXT:FULMRK=0:ALL .PNT$=""
4390 FOR J1=2 TO X: K$(J)=RIGHT(STR$(K(J)),1)

4395 FULMRK=FULIMRK+K (1) : ALL . PNTS=ALL . PNTS$+K$E(J) :NEXT
4400 GOTO 3340

4420 *FREQUENCY

4440 FFR$="":FULMRK=0:FOR I=2 TO X:FFR$=FFR$+STR$(FR(I1)) :FULMRK=FULMRK+K (1) :NEXT
4450 RETURN

4470 *STATISTIC

4490 AV=U/N

4500 FOR I= 1 TO N:SS=(AV~-BB(1))"2:5=S+SAR(SS): NEXT I :ST=S/N
4510 PRINT TAB(3);"Total of Pnts'"i;W;" Date:";DATES

4520 PRINT “STUDENTS:";N;'". AVE: ';AV;" STD:"; 8T

43530 RETURN
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1000
1G10
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1270
1300
131¢C
1320
1330
1340
1350
1360
1370
1380
13290
1400
1410
1420
1430
1440
1450
1440
1470
1480
1490
1500
1510
1520
1930
1940
1550

1560

?EH —————————————————— Program for Analysig=me—e—eoommmmme
' Test Analysis Program

. Version 1.0 by Toshihiro NAMBA

' Date of Make: Sept 30, 1284

* Variants:——

4 AAS String of Right Answers or RA%

’ ALL.PNT: Allotted Point or K

' Bs: Bit of AA%$ or Right Answers

’ A Average of All Students' Points or W/N

’ Bs: Bit of AA%$ ar Right Ansuers

’ Cs: Bit of CARd$

4 CARDS: String of Marked Answers by Students or E$

’ CODES$: Class Name

’ Fe Frequency of a Mount of Points at a Level J

' FULMRK: Full Mark of Test

' G: Number of Markings of Each Response for a Question
' Je a Dimension of G or Number of Questions

’ KK Number of Questions on Key-Input

’ L: Pointc for a Step

4 MAX Maximum of Points

' MINI: Minimum of Points

4 N Number of Cards

’ NG : Shusseki Bangou

' POINTS: Points Obtained by Stutents

* RECD: Record Nao. or QOrder of having read Cards

’ RIGANS: Number of Right Ansuers by Students

' gé:

' Suit: Sum Total of Right Answers for a Question or FR
' T Total of Right Answers

> TT: Total of G's or Markings of each Response j.e. N
' We Total of Points

4 X Mumber of Questians or lLength of AA% or i.e. HK
’ YD Date of Treatment or Year/Month/Day

r

CLEAR,RHIEDD

CLS:WIDTH 80,25:CONSOLE 0,25,0,1:
LT$="Program: Analysis":X$=AKCNVS(LT$) :COLOR &:LOCATE 10,10:PRINT X%
COLOR 7:LOCATE 15,12:INPUT "Codes'";CODES
0IM RECDC100) ,NOC100),CARDS(100) ,POINTS(100),RIGANS (100
DI F(20),SUM80) ,ALL .PNT (50)
P s INPUT OF DATA from S. File on Dick Hi--—==-—oo—mmwmo
CPEN "1:"+CODE$ FOR INPUT AS #1
INPUT #1,YMDE,N, AA$S,FRR%,X,KK
PRINT YMD$,N,AAS
W=0:7=0
FOR I=1 TO N
INPUT #1,RECD(I) ,NO(I),CARDE (L)Y ,POINTS(I) ,RIGANG(]D)
PRINT RECOCI),NOCLY; CARDS (L) ;POINTS(I);RIGANS (1)
W=W+POINTSC(I) : T=T+RIGANS(I)
NEXT I
FOR J=2 TO X:INPUT #1,SUM{J),ALL.PNT(J) :FULHMRK=FULNRK+ALL . PNT (1) t1NEXT
CLOSE '

ZTIE ¢ 1060 ° Variants —> 1060 ’ Variables

1390 CLEAR, &HI1E00 — 1390 CLEAR, &H6000
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1570 P = mmmme e GRAPH BY 20 LEVELS-== === e
1580 *

1590 *

1600 GOSUB *STATISTIC

1610 fOR 120 TO 19: F(J)=0 :NEXT

1620

1630 CLS:LUCATE 10,10:COLOR 4:PRINT “Full Mark: ";FULMRK:COLOR T
1640 LOCATE 10,12:LINE INPUT "Hit ’Rtrn Key' if ready.";Us$

1650 L=FULMRK/20 :MAX=0:MINI=FULMRK

1660 FOR I=1 TO N

1670 J=INTC(POINTS(L) /L) tF(J)=F (J)+3

14680 IF POINTS(I)>MAX THEN MAX=POINTS(I)

1490 IF POINTS(IXCMINI THEN MINI=POINTS(I)

1700 NEXT I

1710 CLS:

1720 PRINT TAB(S)3"CLASS: "3CODES; " (";¥YMDE; ") "3 Students:';N:" AV YAV
1720 FOR I=1 TO 70:PRINT CHR$(14%);:NEXT

1740 PRINT

1750 FOR J=19 TO ¢ STEP -1

1740 PRINT USING"#####" ; INT(J*L)+1;:PRINT CHR$(151 )

1770 IF F(J)=0 THEN GOTO 1800

1780 FOR K=1 TO F(J): PRINT CHR$(134);:NEXT K

1796  PRINT TAB(S55) ; USING "#H##";F(J)/3;

1800 PRINT

1810 NEXT J

18206 PRINT "Maxi: ";MAX;"™, Minim: YIMINI

1830 PRINT TAB(55);"0One Step:"::PRINT USING"##%. 888" ;L

1840 LINE INPUT"Hit *Retrn Key'if ready.";Us

1850 LPRINT TAB(S);"Frequency Graph of Obtained Pgints":LPRINT
1860 LPRINT TAB(S);"CLASS: Y3 CODES; " ("3 YMDS; Students:" ;N3 AY: B
1870 LPRINT USING"#H#, #H#"; AV

1880 FOR 1=1 TO 70:LPRINT CHR$(149) 3 s NEXT

1820 LPRINT

1900 FOR J=19 TO 0 STEP -1

1910 LPRINT  USING™####4#" s INT(I#L)+13:LPRINT CHR$ (151 )

1920 IF F(J)=0 THEN GOTQO 1950

1930 FOR K=1 TO F¢J): LPRINT CHR$(135);:NEXT K

1940 LPRINT TAB(éS);USING”###”;F(J)/Q;

1950 LPRINT

1960 NEXT J

1970 FOR I=! TO S5:LPRINT CHRE(149) ; :NEXT:LPRINT CHR$(151)

1980 FOR I=1 70O 22

1990 FOR J=1 TO 2:LPRINT CHRE(149); :NEXT J

2000 LPRINT CHR$(151);

2010 NEXT 1

2020 LPRINT

2030 LPRINT TAB(S5);"0 5 10 S
2OII

2040 LPRINT

2050 LPRINT "Maxim: ";Max;', Minim: "3MINL;

2060 LPRINT TAB(55):"0One Step:";:LPRINT USING"##. 48481

2070 COLOR 6:LINE INPUT "Hit 'Rtrn Key' if ready to go to SP Analysis.'";U$ :C0LOD

R 7
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GO LPRINT CHR$(EHD)
P e e e SPOANALYSIS - e e e
ERASE RECO,NO,RIGANS,F,SUMN
DIM G(42,7),B%(30)
CLS :COLOR &
FOR I=1 TO N
DIM Cs(ed
X=LEN(AAS)
FRINT TAB(30);'"'Now working, NO.' ;1
FOR 4= 1 TO X
Be(J)=MIDs(AAE, T, 1D

2190 CeC))=MI1D$(CARDS (1,1, 1)
2200 IF B$iy="1" AND CH(J)="+" THEN G(J,1)=GC],1)+1
2210 IF Bs(1)="2" AND CE(I)="+" THEN G(J,2)=G0J,2)+1

2220 IF B$(J)="3" AND C®(J)="+" THEN G(J,3)=G(J,3)+1
2250 IF BECJ)="4" AND C$H(J)="+" THEN G(J,4)=GCJ,4)+1
IF BS{J)>="5" AND CE(Jy="+" THEN G(J,5)=060J,5)+1
IF Be(H="=" AND CE(Iy="+" THEN G(J,&)=G0T,é6)+1
IF C3CJy="1" THEN G(J,1)=G(J,1)+1
iF CsCy="2" THEN G(J,2)=6(J,2)+1

[l

&0 IF C$CJr="3" THEN G(J,3)=6(J,3)+1
2250 iF CsCJ)="4" THEN G(J,4)=6(J,4)+1
23200 IF C$(1»="5" THEN G{(J,5)=G(J,5)+1
2310 IF Ce(lo="=" THEN G(J,6)=G(J,6)+1
2320 MNEXT

2330 ERASE C%

2340 NEXT 1

2350 COLOR 7

2360 T mmmm e Table of SP(length ; Questions:widthj;Ansuwers)-——-=--—
2370 FOR I=1 TO 701 PRINT CHR$(14%); NEXT:PRINT

2380 FOR J=1 TO X

2350 PRINT J;" ) ";Bs(J); tPRINT TAB(13);CHRI(150);
2400 FOR I=1 70 6

2410 PRINT USING"H###";G(]1,1);

2420 NEXT 1

2430 PRINT
2440 NEXT J

L PRINTING SP TABLE —====m=m = oo o e
2460 LPRINT "CLASS:";CODES$;" ("';YMD$;') Students:'; tLPRINT USING"HHH#H';N;
2470 LPRINT ™, AV: ";:LPRINT USING"HHH.HH";AV :LPRINT

2480 FOR I=1 TO 75:LPRINT CHR$(14%9); :NEXT:LPRINT
2490 LPRINT TAB(S3);"R.A.";:LPRINT TAB(11);CHR$(150);

2500 LPRINT " i 2 3 4 5 -";CHR$¢(150);

2510 LPRINT TAB(41);CHR$(150);" 1 2 3 q 5 ="

2520 FOR I=1 TO 7?5: LPRINT CHR%(149); :NEXT:LPRINT

2530 TT=0

2540 FOR J=1 TO X

2550 LPRINT USING"###";J; :LPRINT " ) ";B$(J);:LPRINT TAB(11);CHR$(150);
2560 FOR 1I=1 TO 6

2570 IF IOVAL(BE(J)) THEN LPRINT USING“####";G(J,1);:60T0 2600
2580 LPRINT CHR$(27) 3 CHRS(&H58) ; :LPRINT USING"####";G(J,1);
2590 LPRINT CHR$(27);CHR$(&H59);

2600 TT=TT+60J, 1)

2610 NEXT I

2620 LPRINT CHR$(150); :LPRINT USING ###4";TTs:LPRINT CHR$(¢(150);
2630 FOR I=1 70 &

2640 IF I<OVAL(BS(I)) THEN LPRINT USING"###. . H" 1 (G(J, 1) /TTHY*100::60T0 2470
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2650
2660
2670
2680
2690
2700
2710
2720
2730
2740
2750
2760
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LPRINT CHRS$(27)1CHR$ (BH58) ; tLPRINT USING "###.4#"; (G(J,1)/TT)+100;
LPRINT CHRS$(27);CHR$ (8H59) ;
NEXT I

LPRINT
14

TT=0
NEXT J
FOR 1=1 TO 75:LPRINT CHR$(14%); :NEXT:LPRINT

’

»

LPRINT CHR$(&HC):CLS
LT$="You have done with Program: Analysis.'":X$=AKCNV$(LT$):COLOR 4:LOCATE 5

+10tPRINT X$ :COLOR 7

2770
2780
2790
2800
2810
2820
2830
2840
2850

PRINT:PRINT:PRINT TAB(1S):"Tao get out of the program, just strike 'Retrn Ke
PRINT TAB(25);:LINE INPUT Ws$:LPRINT CHR$(RHC)

END

it Subroutines =—==wmem e ————
*STATISTIC

AV=W/N

FOR I=1 TO N:SS=(AV-POINTS(I))"2:S5=S+SQR(SSI:NEXT :ST=S/N

RETURN



